PROFIT EXERCISES



NAME:  _______________________________
1. What is the formula for calculating profit?

2. Suggest two reasons why it is important for a business to make a profit.

3. Smith’s Confectioners Ltd had the following costs and revenue:


Costs


Revenue


£2,318,000

£2,770,000

How much profit did the business earn? 

4. A new competitor has started operating and Smith’s revenue has fallen by 10%.  Yet costs have remained the same.  What is the new revenue?

5. What is Smith’s new level of profit?

6. Describe two ways in which Smiths could increase its revenue.

7. The Managing Director of Smiths has suggested using cheaper ingredients in an attempt to increase profits.  Explain the implications of this decision.

